
A shipment of broccoli was originally 75.5 pounds. However, due to spoilage

during transit, it ended up weighing only 62.4 pounds. How much weight

was lost during transit?

13.1 poundsa) 13.2 poundsb) 13.3 poundsc)

Subtracting Decimals | Tenths

1) – = 2) – = 

3) – = 4) – = 

5) – = 6) – = 

796.9

217.4

8.8

9.8

27.4

6.3

928.7

539.9

34.5

662.3

4.6

0.7

Livingstone drove the car at a speed of 125.6 miles/hour. After covering some

distance, he exchanged with Chole. She drove at a speed of 109.3 miles/hour.

What is the di!erence between their speeds?

12.3 milesa) 15.3 milesb) 16.3 milesc)

Ellen checked her height 2 years ago as 54.6 inches. Now she checked it again,

and it is 60.3 inches. How much has she grown?

4.3 inchesa) 5.7 inchesb) 5 inchesc)

7)

9)

8)
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